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SRJ-010 218 353 167 286 104 13
SRJ-020 218 353 167 286 104 13
SRJ-060 235 393 191 330 130 18
SRJ-1 296 507 267 368 191 40
SRJ-2 296 507 267 368 191 40
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50 2.31 1.40 - -
100
60 234 1.44 - -
50 261 1.73 = =
110
60 2.59 1.50 = -
50 1.20. 0.72 1.27 0.53
200
SRJ-010 60 1.19 0.78 1.19 0.45
SRJ-020 220 50 1.34 0.88 1.40 0.59
60 1.33 0.80 1.28 0.48
50 - - 0.63 0.26
400
60 - - 0.58 0.22
50 - - 0.68 0.29
440
60 = - 0.63 0.23
50 3.25 244 - -
100
60 3.38 2.48 - -
50 3.60 2.74 = =
110
60 3.71 2.50 = -
50 1.86 1.56 1.89 0.74
200
60 1.82 1.13 1.77 0.67
SRJ-060
50 2.04 1.84 2.00 0.76
220
60 2.01 1.27 1.92 0.67
50 - - 0.94 0.37
400
60 - - 0.90 0.34
50 = - 0.99 0.39
440
60 - - 0.97 0.34
50 9.33 4.98 - -
100
60 9.63 7.43 - -
50 10.27 5.15 - -
110
60 10.56 7.43 = =
50 434 2.18 457 1.10
200
SRJ-1 60 4.45 3.00 431 0.99
SRJ-2 220 50 487 2.28 5.07 1.06
60 4.91 2.99 4.76 0.96
50 - - 2.35 0.53
400
60 - - 2.24 0.48
50 - - 248 0.52
440
60 = - 2.48 0.47
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